EARAROBREBRT —5 XN—ZXBISH—F 2022118106 (K) 9mll |48

Ele=mes 83 v>5%—% B Y
[AE%] 17%&:2,100,000 § ~ 2375:840,000 @  37&:525,000 9  435:315,000 @ . 53&:210,000 M
B (%S RS M ML BF (FB) |94L (EZ) | @BIRG | k3F |SEH | AK | #F | A6 FE) / BE / £ES
11710 NUTLT 2 — R oA B Rt B el e el
R:O—RAFO7 8:FYITUAL s0%E
215l | =2 bVN—5 L % 6 | SR e B e e B e L)
RYIRIA TSR B:RYUNTY J5Y Rijiis
3 333wk 3 gi;g%z (1551./12) 654 |37.4| — | 3 | 478 g&%g: (1)
RYTPII— BPAE—F ® | w@or—n
4l7lo | ¥—0FbuL—2 SO o) (5/35.71) 1-1-1 380 — | 1 (4_25) ﬂstff %F)
RiFALNZRYIR B:RARXTTUYIR EvILy RT7—L
5 ) |lE=RFYyFN—h v 4| BEAW (5752“) 9-8-6 |37.1| - | 5 (4_728) P‘%ggﬁf;gyﬁ)'\j?_b
R:IVH=0 BAATSA b J—YYIr—L
6l8|11| ¥VIIA ®RT e I i B B I 15720 I,
RU—FHIS0Y BiEFUby—35V P SER
75| 5 | TATA4FF o7 ﬁ%EE (1551./42) 457 |37 - | 7 (5+o15) gﬁi Egﬁgmﬁ)
RYDRI(TSZ BiRI—FD FERYIS
818|12| ANAIFv¥— io4 | BERER (575@) 313 (382 - | 10 (4686) giit; (REHE)
RN=HNNR B:T-T4—Avh HEKRS
9 =27 3 EE?%E% (1551./82) 10-11-11 | 37.4| — | 9 (ﬁi) zﬁ\jﬁé (i)
RiPRIAYL—Y BTATAEAS =T
w7995 # 3 Egﬁf{%ﬁ (515/.29) 7-10-10 [37.9| - [ 1 (4+798) E’%’g (i)
RIIARDT—WYF— B:IFY—F VY- il fh—
1 4| IAMEAY A=~ # 5 gg%@*ﬁ 5;33.)5 21-2 39.2| - 2 (4328) g%ﬂéz 1)
RiO—IRA VAL BV AZVITFPAR BE &
121111 [/W3ZR=0O i 8 | R e 12-12-12 [386| — | 12 21975) é%%; (1)
L7077 B:PRSYEY D =577 —1
® 1—F—iEBIE
13—7—
20—7F— |9,4,12,5,6,3,7,11,2,8,10,1
30—7F— (4,9,12) ,6,(3,5),10,2,11,7,8,1
41—73— |(9,4,12,3,6,2,5,10,11,7,8,1
o ILRE
& B 10 2,060 | | 94K 6-10 3,210 | | # & 5-7 630M | | 3:E& 3-6-10 43,880
& B 10 300M 3-10 1,660 | | # & 7-5 630 | | 3= 10-6-3 339,110H
6 570H 3-6 3,590 | | &5 & 6-10 21,370
3 340 58 10-6 50,3603

ABIC OV TRUTEREERRODDZE. THRIIZEL.




